TR ERARZR (AR01)
TH4 R7ﬂt R R B P ERKBRIE (2) BFH HEX T BT - LB
fRER) THEXy HEKGR
THXSy - THE - R - ) Biks HLAZ Gl R (4[E) KRB e
HEKGR
= 1
BT
= 1
I
= 1
Eitell TE W, M5 AT vk,
HE L, B L, fE TRCR 5, 000m3
AR m3 590
S TE R GRS EARY BET)
m3 470
He VE¥EIX Sy 5% 13 AU © O ALER
m3 470
HERE 1
= 1
(==
= 1
) T
m3 70
HEREL &
m3 160
HWEL T
m3 10

=N

N
Zim




T

<

ez (A01)

TH4 | R7#L: i ERES ERWBETHE (2) G5FH FER Sy TH TR -
FaER) TR X5y TERW R
TEX Sy « TfE - FEY - 4051 FS BT e (FimE) & (4mE) B T
FEE R
m2 40
ST FTHERE T (&) HAAT)
2-15 b 7= HeE)
Y 1
b 7= R ARV )~ EAS 1 18-8-40 (B IF)
m3 29
HOAMEA W Bk A7 9v17/40~0
m3 7
77 KEe)L GN-150SP 3B%
m2 18
ST FTHERE T (K& BT
(2-25 b 7o U HieRE)
= 1
7= R ARARay ) )~ MR - 18-8-40 (B 4F)
m3 11
HiAfA AT 1R 2R 79 V4740 ~0
m3 2
77 KEe)L GN-150SP 3B%
m2 7
S ATFTHERE T (K& HEAL)
(35 & 7= k)
=V 1
b 7= R ARV )~ EAS 1 18-8-40 (B IF)
m3 151
— 2 — %l:m%/a\




[= = A E‘ /\
TS ERRiEZR (R01)

THE4 | R 7?ui e EAER Bs - hA EREBRLE (2) (EFFH FER Sy TH TR -
e THERXS TERW R
TFX gy « TRE - FER - FmB1 FS <X{va e (FimE) & (4mE) Fe B e T

HOAEE W s B A 7947 /40~0
m3 47
75 KL GN-150SP-8 3B%
m2 95
AT HERE T
(175-fhEHE /K BiERE)
= 1
EVZAY PERE O FESE : 150 b 7 iR,
BEBE DA 5 S im, 27 ) - NI 1 18-8
-40 (BIF) , AR — R E, 2=} m3 10
Hi e FRE D FIE : — R
m2 17
HiAfA T 1R 2R 79 V4740 ~0
m3 3
T8
Hm2 6
KN 47 R R FEEE VP ¢ 65, T4V ME L
m 8
4
= 1
75 L GN-150SP 3B%
m2 6
AT HERE T
(= HhbiERE)
= 1

=N

N
Zim




TR ERARZR (AR01)

TH4 R7ﬂi R R B P ERKBRIE (2) BFH HEX T BT - LB
fRER) THEXy HEKGR
THXSy - THE - R - ) Biks HLAZ Gl R (4[E) KRB e

SR SEREM NG AR 79y 7/40~0, R
:200mm
m2 13
ayyy=} PEREDFEAE : H )20 b 7 AU pERE,
BeRE D R & 1 1 B, 37 ) - MRS 0 1
8-8-40 (FJF) , # 42 — Ak, 1) m3 18
AP RO RS — R
m2 37
HAFES
m2 33
HEEEMZAR
m3 2
H Hitk H bR OFEAH R E H HiAR t=10
m2 2
KRN A7 BB VP ¢ 65, T Vy-HEL
m 5
B T
= 1
B =b -
m 10
% B LAl
m 31
HEoktEEY) T
= 1
4 1




THEEERTER (401)

<

THE4 | R7#+L e ISR B Pfa EXRGBRTE (2) (ETH FEXy TH TR -
e THEXS5 TERW R
TEX 5y - THE - fER] - 5] Hikg <X{va e (AED) Frm R

KMV T
(152K
= 1
EVZAN 18-8-25 (& 47)
m3 0.4
Hi e
m2 4
FepE RC-40
m2 0.4
54911 D13
t 0. 004
= EHET-14
K 1
AT KIS T
(1B HEBEAREED)
= 1
EVZAN 18-8-25 (& 47)
m3 0.6
Hi e
m2 5
FepE RC-40
m2 1
TR FEFEH 1 C1-B300
e 4
-5 - TE IR




THEERIER (AR01)

TH4 | R7fEL 85 EIVES EERGRTHE (2) GEFH HEX T BT - LB
fRER) THEXy HEKGR
THXSy - THE - R - ) Biks HLAZ Gl R (4[E) KR e

YL T
= 1
OGS EUE L L
= 1
/)Y - U AL B G X E A
m3 46
Gan
= 1
E SN
= 1
) R OV B A A
(%)
m2 68
TR A T
= 1
KR RV A
m2 114
AR BT
= 1
A2 R A B
AR 20
BT ER
= 1

=N

N
Zim




=

Ry

=R

rath e (AR01)

1 = =S
TH4 | R7HL: 85 LIER - A ERSRTE (2) GEFH FEX Sy T BT - O
faEM) LRy ERWR
LXKy - T - FR - A JREE BT ek (filED) & (50 $ S
IR
= 1
Bl
= 1
FeAfria s
= 1
T H R B o — U HEEGAER
= 1
miaRE (FEL)
= 1
ol T
= 1
B P
= 1
T
= 1
— R R
= 1
T gk
= 1
THEBIAE S O 7 Y 2 BigE
= 1
g ey R




TS ERRER (401)

o2

THE4 | R7#+L e ISR B Pfa EXRGBRTE (2) (ETH HEX Sy TH TR -
fRER) THRXY HEF R
TEX Sy « TfE - FEY - 4051 JRKE BT ¥ (Rl HE (5E) big—s:i04 e
THHEH
= 1
-8 - TE IR




